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ELE 4142

 Determine the resistor value that will maximize the
LED brightness
* V,=1.1V
* \Vpin =0V -3.3V

* |pin

max

=+/- 10mA

Pin

Ot



ELE 4142

* Sketch the output waveform v, over 2 full input

cycles

* vp = 120Vrms
* N, =10x N,
* vp=0.7V

« R =1KQ

Ot
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* Sketch the output waveform v, over 2 full input

cycles

* vp = 120Vrms
* N, =10x N,
* vp=0.7V

« R =1KQ

Ot
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* Plot the voltage at node 1 vs Vbatt from 0 to 12V
* Assume V,=0.7V




	Slide 1: Diode Circuits
	Slide 2: LED Driver
	Slide 3: Half-wave Rectifier
	Slide 4: Bridge Rectifier
	Slide 5: Diode Circuit

